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: INSTRUCTIONS :
All questions in the Test are multiple choice questions.

Each question carries one mark, with four alternatives out of which one answer is
correct. :

There will be no negative marking.
Use only BLUE/BLACK Ball Point Pen to darken the appropriate oval.

Mark your response only at the appropriate space against the number oorrespondmg to
the question while answenng on the OMR Response Sheet.

Marking more than one response shall be treated as wrong response.

Mark your response by completely darkening the relevant oval. The Mark should be
dark and the oval should be completely filled.

Use of calculator, Mobile is stnctly prohibited and use of these shall lead to
disqualification.

The candidate MUST remove the last Carbon copy (Candidate’s copy) of OMR after |
completion of Test. '

The question paper wﬂl be both in Engllsh & Punjabi. In case of any doubt, English
version will be taken as final.
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The saddle joint in the human body is in the -

(a) Toeof the foot (b) Little finger
(c) Wrist ‘ (d) Thumb
Hett rite g adt a3
(@ Bamn3Ug (b) &t It
(c) woE @ nige
Hyperextension occurs when the extension is beyond
(a) - 60 degree (b) 90 degree
(c) 120 degree (d) 180 degree
eI yrI e Jur I ey D
© (a) 60 TRt I ug ®) 90fsaet Fus
(¢) 120f3a=t 3 ug d) 180 3ot 3 ug
Newton’s laws of motion better exemplify
(a) - Kinetics (b) Kinematics
(¢) Kinesthetic (d) Kinesis
f58es & a1t & fsony o3 Qurgas OF agor 2
(@ = fefamms ' © (b)) =T AEd
(©) fodmefex &t - - (d) fadfm e
Name the types of muscles which contract when the body is in motion.
(a) Neutralizers (b) Antagonists
(¢) Stabilizers' , (d) = Agonists .
Wﬁ@n%awﬁhﬁﬁ#nﬁaaﬁﬁaﬁa%@ﬁmaﬁwm
(a) foquha - (b) feddt
() AiEI I95 THMT (d HaFa
In terms of biomechanics, gravity is what causes our
(a) Weight (b) Stability
(c) Equilibrium - (d) Volume
ile Hatfeotr & Aaet 9 nraeRe Bt 8 3 & Y
(@ STITITIY b) AT aasd
(c) FA3®s T T9s D (d) nifEsEe aras d
The class one lever is built for
(2) Speed - (b)  Equilibrium
(c) Strength (d) Range of motion
R&t-fex Hteg gzrfonr fapwr 3 |
@ == _' (b) Fgos wEt
(c) =5 & o (d) T T ferag et
If the tennis stroke is a “cut” or a chop, the ball will
g5 8 i
[ in - (d) Rebound
ﬁaaéf%nnéaa‘az’ 9 Y, %
() e (b) S=3qt

© et @ g
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10.

11.

12,

13.

14.

Lordosis can be found in

(a) Infants and children (b) Adult men and women
(c) Old people (d) All age groups
BI3HA urfen ar Ao 3 *
(a) Tt w3 Hfanr &g (b) THA vireH W3 wigst g
(¢) Tg9d & fog (d) TI8Ha v & f&g
The running at slow speed, the contact of the foot used is
(a) Partial (b) Complete
(c) Absent (d) Undetermined
hit o=t '3 ¥96 '3 w93 99 U9 v Agos |
(a) WHI I | (b) AUIEI
() BHI (d) nrifsefes

Most muscles that move the hip joint oﬁginaté from the
(a) Abdomen (b) Spinal column
(c)  Sacrum (d) Pelvis
hnmanmﬁrﬂwﬁﬁgﬁ%ﬁsaﬁw@ﬁwwggg@maa
(@ U2 () T HFIH S oy &
(© Yz ugd ym & 3t T (d) Uwfer & '
Our hands generally get contaminated with
(a) bacteria (b) soil and dirt

(c) grease and oil (d) chemicals
A3 Jg nH3d 3 e § AR 7%
(a) BT 7 - ®) W w3z Jeat &

() TEMSI\ES (d) et a1

Another name effleurage massage is '
(a) Pressurizing (b) Bunting

c) Slicing L . (d) Stroking

HA™ & 93 &M 3
(@) YrarEtfiiar ®) Ffea
(c) wsEiHar (d) RSfa
Technically speaking, friction is similar to
(a) Hacking (b) Rolling
(c) _ Stroking (d) Thumbing
FHr <9, J3 AN

(@) Fu M ® fagsd
(© uwilee (d TEm
Flexion takes place around .
(a) ball & socket joint (b) synovial joint

¢) hinge joint (d) gliding joint

Jer J:
(a) TB NI AAE §F B ®) fFadms 73 orrd
(¢ fJ7 7z ond (d) TESET I3 od
‘ 3
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15,

16.

17.

18.

1.

20,

21

Bile is stored in _ ‘
(@) spleen (b) kidney o
(c) skin (d) gall bladder S
TS Wy g Y | | o
@ &R (b) T e
(¢ oHFt e @ fEfs
Which of the following eatables are enemies of teeth ? _ -
(a) Bakery products (b) Nuts & fruits -
(¢) Bonymeat (d) Chewing gums & chocolatss
(a) B YETE (b) MR 3 TH
(© THzmie (@ o 3 gadet
A forward upwards movement of the foot at the ankle joint is
(a) Planter flexion -(b) Dorsi flexion
(¢) Inversion _ (d) Eversion
U9 R fif2 ¥ 57 3ATH-BR IS T I
 (2), OnEEES TR b fiz&e
@) 8sF @ useE
For strength dominating sported, the diet should be rich in
(a)  carbohydrates (b) vitamins
" (¢)  minerals ' (d) protein
% yu's 3t ¥, 3vis 39yd & e 9 -
(a) TTETERE &8 | - (b) feofis &
(c) ufew &g @ YW fes
“In case of sprain the immediate treatment recommended is
.- (a) hydrotherapy (b) cryotherapy
SR © heat-therapy ] (d) None of the above
: m%mﬁa,fnaﬁnaﬂarwgésma:
(a) wSFEfETSAT b) Ffecand
() 3 fafazAr (@ BuIx3s et &
The term dead ball is used in
(a) handball (b) tennis
(c) table tennis {d) cricket
Hoe ‘33 ¥’ @df3nm wier 9
(a) J5u% <o (b) 2fsRf¥e
(c) 2% 2fen e @ fagaefRs
Who among the following declare the Olympic Games closed ?
(a) Chairman L.O.C (b) President LO.C :
() Secretary 1.0.C : d) Prime Minister of the Country
- Jot fifanrt R 3= Gdfux a3t & ot wFE geTr J
(a) 1OC T InEis ) loce gfide
(¢) loCEr Ag3T T (@) T\ T yTs WISt
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22.

23.

24.

25,

26.

27.

28.

In which year were the Ancient Olympic Games banned ?

(@ 396A.D (b)) 39%4AD
(c) 296 A.D (d 334AD

Uoaa vl ust 3 unddt fam A & &t At '

(a) 396AD (b) 394 A.D

(¢c) 296 A.D (d 334AD

The word ‘Athlete’ originated in

(a) Rome (b) Greece

(¢) China (d) India

mEste Age o §3udt a5t At

(@ HfdE () dr e

(© T @ FIERe

In which Olympics did women participate for the first time ?
(a) 1896 Athens ~ (b) 1900 Paris

(c) 1920 Antwerp (d) none of the above
fgastor Géfua st f¥g wiast 3 ufadt w9 3rar foor At

(8) 1896 BEEH (b) 1900 fsH

(©) 1920 nzdqy T (d) Gudas agt &gt
Height of the Volleyball net for women is

(@ 221mts ®) 222 mts
{c) 2.25mts (d 226mts
Hissret Bet Tdas e & Qurst 3.

(a) 2.21mts (b) 2.22mts

(c) 2.25mts (d) 226 mts

E weightliﬁing competition the increase in wei ght between two attempts must not be less
an |

(a) 2.5kg (b) Skg
(c) 10kg (d) - 2kg
wmmﬁaemﬁmmﬁawmmﬁwma
(8) 2.5kg (b) Skg
(c) 10kg . () 2kg
To take penalty stroke in Hockey, any skill can be used except

(a) push () flick :
(C) sc00p (d) hit

9 Ut Réga B =, ﬁnaés&ﬁﬁéfsaﬁaaqmma‘la*wm%

.(a) g (b) S '
(¢ wW9-de (d HI&

‘Roverse Cup’ is associated with the game of
(a) Football (b) Volleyball
(c) Hocke (d) Kabaddi

‘JEon U’ %’a:r by &% AY0S 3 :
(a) TEH (b) THTH

(c) Tt (@ St

s | Paper-I1 (Physical Education)



29. Which of the following Universities won the MAKA Trophy for the maximum number of
. times? *
(a) . Punjab University (b) Delhi University
(¢) Guru Nanak Dev University (d) Calicut University "
Jat fifamtt & faast waleaiet 3 nrm 2ofdt Ae 3 Su w9 Mt Y
(@ e gdeed ®) fort gdteatindt
(c) T FEA 2R garathet @) THae galeahdt
30. How many times has India won the Hockey gold medal in Olympics ?
(a) 7times (b) 8times
(c) 6 times © (d) 9times
F93 & Sofux Bt fog ol dis Aew fadt g fiffar 3
(a 7<9 . (b) 879
() 6%F9 : @ 939
31. Which country won the final of ICC World Cup 2015?
(a) Australia (b) England
(¢) India (d) New Zealand
ICC feme afu 2015 fam 2R & frifanr /i |
(@) WAEMr - ®) fEads
© T @ fBrids
32. In Volleyball, the distance of the attack line from centre line is
(a) one meter (b) two meters
(¢) three meters (d) five meters
TS g niea Jur & AT &8 g I
(@ fEFHlew - ) Sies
() f3&Hes (d) URHeT
33. Shortest training cycle in a sports is known as
(a) micro cycle - (b macrocycle
(¢) meso cycle (d) . None of the above
fea 03 f¥o w9 T 22 2f8a S99 qo€e
(a) THEX9 (b) fems Ja9
(c) WA Jaa () Sudaz a5t ;
34.  In which game pressure training method was first used ?
(a) Hockey (b) Football
(c) Vollybalt (d) Basketball
A9 firaret fedt ufoedt =9 foar B e gt st @t At
(@ el (b) TIH

(© <HES (d) THICEH
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35.

37.

38.

39.

40,

41.

In most cases of Obesity, is the reason of

Which ofthe following is animal fat ?

(a) Egg (b) Almond

(c) Meat ' (d Milk

Jat fafant &5 foast Arasg aasﬂ q :

(a) niiET (b) ToH

(© He - @ @

The major function of msulinisto

(a) transport food stuff (b) keep blood thin

(c) regulate blood sugar (d) convert glucose into glycogen
RS T I a3 ' '

(a) IS USTE T TIS AIS b) Y53 uSH FuzT

(c) U983 gIR § fouizes ausT (d) TSI § I&ERANS 29 ufaeass aga

‘Sports top form depends on o .

(a) training (b) psychological limits

(c) diet (d) equipments

g3 &t 89 Trou fags9 aaé’r I ‘ |

(a). 2f&a '3 : ) - Hafefamieas At '3

(c) w393 (d) FWAHNS 3

Which factors affect pace of recovery ?

(a) Nature of load _ (b) Health and physical fitness

(c) Sleep (d) All of the above -

nigarzT & It § foao3 §3 YFTE3. aa% 5

(@) TIMmS q%zas”r (b)) o3 nR Ao feedn

(c) 3t d) SuFEz A9

The factor which is not considered as a component of training load is

(a) intensity (b) volume

(c) density - (d) diet

33 fan § it 319 & fdA &t ¥ifeor Arer 3

(@) FEeT (b) rfess

(c) wasT (&) nIT

(a) eating junk food (b) doing no exercise
(©) _ nibbling between meals (d) excessive eating
Herd 2 frimpersg 3Rt &9, aes 3 .
(a) "I UT (b) IAI3 B ATE
(c) 3wt fogarg yrd Sfasr (d =Tguz
The disease called conjunctivitis is a disease of the
(a) lungs (d) eye

(c) spleen (d) trachea
anarfz'%fzn JTEE TH JA I
(a) ufanier ) e
() =Breo - () AT

7
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42.

43.

45.

46.

47.

48.

Where do the nails grow from in our body ?

(a) Muscle (b) Bone
(¢) Skin (d) Cartilage
(a) HRUAMF 3 () T T
() oHHT | @ s IHIF
Which of the following game does not provide time-out during play ?
(a) Volleyball : - (b) Football
(©) Handballh - (d) Basketball
ﬁvﬁﬁmﬁvﬁaﬂm&s%mmmm&ﬂ'm
(a) wEES b) TEs
(c) Is5T®H | (@) THACTS
-Aim of sports training is
(a) Physical fitness (b). Technical skilt
(c) Tactical efficiency (d) All the above
43 et o €em 9 :
(a) AR feedn (b)) SIB IS
() TIHNT 3RS - d) Sudaz A
The size of the badminton court in doubles is
(@ 44ftx20ft - (b) 40ftx20f
(c) 44fix18ft (d) None of these
aafont i35 Bsfites d9c o nig Jer 3
(a) 44fix20ft (b) 40fix20ft
() 44fix18ft (@) feoe & agt adt
How many time-out are allowed in a football match ? |
(@ 2 ® 3
© 1 -(d) None
azm &g fad e mi@e de I8
(@) | ® 3
- © 1 | @ o adt
Principles of overloading is that ,
(a) Load should be maximum - (b) According to the capacity of athlete
c) Load should bg r%:)re than optimal (d): According to the body weight
o fruis

(a) T wifte=H 3T Idier I )] e S AHdeEr nigRTS g D
(c) "EIBHEH WIS JT INT I (d) FAIFII @A gy

According to principle of specificity of load a cyclist should do

(a; v\ielght training _ (13 ;y;llllt;lg et
metric 1 titude training -
& ‘é? %%Fazaf Ao’z nisAg e TS § TIer I
(a) 39 frumst (b) e e
() - usfeditefaa @) €9 -neEE fuset
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49,

50.

51.

52.

53.

55.

Smashing in volleyball is also known as

(a) llftmg (b) spiking

(c) servicing (d) blocking

THEs &9 mn feg & aor@dt 3

O ) mrfE

(c) Rafefiar (d) F&fdar

Which of the following phllosophles of physical education is known as Experimentation ?

(a) Existentialism (b) Realism'

(¢} Pragmatism - (d) Eclect:cnsm

Aatga it o Jat fidfanr feu* faat femmet yuar so@+t &

(a) nmf33T T (b) »rSTE

() feeggee (d) Geefoz =

International Olympic Comrmttee was formed in

(a) 1894 (b) 1896

(¢) 776 B.C ‘ d 1952

niZgTHeI EHfia aNSt T aIBs IfenT At

(a) 1894w (b) 1896 g

(¢) 776B.C {5 d 19521 &%
The fastest period of growth in human beings is

(@) Childhood ~ (b) Adolescence
(c) Infancy (d) Puberty

Ry RgfaremImasy |

(a) =BUS (b) fIHT neAE

(c) =TBUE (d) w=

Tiger Woods is related

(a)  Dbilliards - (b) polo

(c) golf (d) chess

g ¥ ASus 9

(a) ToomEs &8 b) UBwS

() %2 (d) HIA S
Lack of fitness can cause

(a) lossoffluid - (b) loss of weight
c) _ muscle cramps + (d) sleeplessness

o &t F9 I AeeT 9

@ @i ®) 9 ueE

(c) HHUHMT T nidami (@ n@tesr

1% Asian Games were held at

(a) New Delhi (b) Bangkok

(c) Lahore (d) Beijing

Brimis B3 9Enit AE

(a) ot fey ' (b) Fa=few

(c) ®Jafeu (d) ifdar fea

9
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57.

58.

59,

61.

62.

2016 Olympic Games will be held at

- (@) New York . (b) Athens
~ (c) Seoul (d) Rio deJanerio
2016 E3fua a3t Jaatindt
(a) faBuraa feu (b) PusH ey
(c) TrBm feu @ fo8 3t Axfag fe
N.LS was established in
(a) 1957 (b) 1961
(c) 1962 (d) 1964
NIS & AenzT Jgt At o
(a) 19579 by 1961 &
(c) 1962w (d) 196413
All India Council of Sports was formed in
(a) 1954 (b) 1953
(c) 1952 (@ 1951
nis fedhor 3€ThE nig miser o a5 dfenr A
(a) 1954 f3% (b) 195339
(c) 1952f3% (@ 19511
The body which controls participation of India in Olympic Games is
(a) S.AlI - () LOA
() 1OC (d AAFI
Wﬁﬂﬁé&ﬁﬁﬂﬁﬁ?mﬁﬁﬁ?ﬁaﬁﬁﬁzﬁ?aﬁﬁ%
(a) S.Al ' (b) LOA
© LOC (d) A.AFI
In Russia terminology physical education is better known as
(a) Kinesiology (b) Physical culture
(c) Movement education (d) Physical training
9r f¥9 Aacew Adtex fAftm § Frfenr Fier 3
(a) fosfBsmt (b) feries amgg
(c) HeNE MgamHs d) oo 2féa
Physical activity is basically a
(a) Social attribute ~ (b) Psychological tendency
(c) Biological necessit (d) Philosophical concept
AGasl Hy 393 &
(a) ANV IT 9 | ®b) Hafefamaa yfesst O
(c) i< fefamrss 83 9 (d) vInfex aaaT I
Which one of the following is no major domain of physical education ?
(a) Research (b) Instruction
(c) _Teaching skill (d) Inspection
Jst fefant &9 oz Adtex iftwer e vy aren 939 541
(@) A ®) fogem |
(c) vriftrrrus ﬁsgz—a’f ' - (d) fsduz

Paper-II (Physical Education) 10



65,

67.

68.

The earliest term used for management was

(a) administration (b) organization
(¢) coordination ' (d) direction
yHus SEt Ag 3 ufamT yGdr it aE 9 Bee O
(@ YA'Es _ (b) FHIBS
() fioeszs () fomr fogem
The factors affecting physical fitness are
(a) Anatomical factors (b) Physiological factors
(c) Psychological factors - (d) All of the above
_ MEIUST § YIeS dF5 T I3 T -
(a) AII9x E=39 33 ' (b) AdtS fafanr Aedt 33
() wafefomaa 33 | @ &udaz A9
What of the following playing surfaces is easy to maintain ?
(a) Concrete (b) Natural
(¢) Turfed (d) Synthetic
It fofantt (#5 faad 3 Aes ©F A9 J9at WA
(@) oladt (b) FEIH
(c) wgIH : (@ fiafex
The toial work done in a training session is termed as
(a) Volume : (b) Intensity
(¢) Frequency {d) Density
- Tt AEs g &3 famr o5 on ao@er 3
(a) nrfezs (b) YB3
() Fhaer @ wEF
Who is the first person which explains the sensory method in sports ?
(a) Jorden (b) Best
(¢) Smith ~ (d) Zaciorskijj
53t [Jg Aeex fedt & fenrfimr aas oo ufow fent 3= 3 ¢
(a) #9855 (b) &Ae
(c) A | (d) Afsmranfam

In order to make intramural programme really interesting and worthwhile, it would be apt to

(a) Induct new equipment

(b) Build permanent infrastructure

{c) Invent new fun/recreational games

(d) Infuse intense spirit in the participants

=79 drerdt »iegd Yoo § farfos gu i fewany w3 Bz 58z ==, Hmaa%arr

(a) 3 Ae By &93

(b) FEret niorg Hadar o fsare :

(c) Bt I3/ HIUTT'ER 83T S Ui FIaT

(d) I BT Thont e Shug gres o Ao a9

11 Paper-T1 (Physical Education)



69. The spectrum of actmty competition at the elcmentary level of education mus't be more

(a) formal (b) informal —
(¢) neither formal nor informal - (d) organized

fifer & MdiN et Uug ’%maﬁﬁﬁwa@erfﬁﬁﬁqualﬁ?af'ﬂ»@
(a) fesgoa=x ) I3 fesaga

(c) & fezgraa »i3 & Tt d9 feeoax (d) A3

70. Which game initially was called “Mentonet” ?

(a) Badminton (b) Basketball
(c) Baseball (d) Bull-fighting
faast 83 § g3 8 « Adde” fagr wier At
(@) ushics | (b) TFIT TF
(c) RIS - (d) mEerdie
71.  Which of the following activities may be difficult to teach in mass ?
(a) Gymnastics _ . (b) Setdrills
(¢) Drill & marching (d) Yogaasana
ot fefant 55 frast fixfanr § 913 ¥ uan@er v 3 Frer 3
(a) frvwemAfex () 3% q9a
(©) @3 wafda (d) T wEE

72. Transition period aims at ‘
(a) Stabilization of performance (b) Super compensation

(c) Recovery (d) Recreation
ufgeass s o H3e J |

() YEIHs © Afae (b) Y I
(© usa yndt (d) H&Iws

73.  Acquisition of specialized sports skills lead the students to
(a) Perform movements skillfully
{b) Become good players
(c) Develop into specialists
(d) Do things economically '
fefiare 83 fadaz=t & yust fefowaet § nigr a@@ﬁ 3

(a) FTI=Eh T fodasr &% Yyoous o395 feu
(b) I fuzdtazs feo

(c) Hfga @ 393 feafs d= feo

(@ &g fgon o a9s o

Paper-1I (Physical Education) 12



74. The organ which produce insulin is '
(a) Gall bladder (b) Liver

¢) Pancreas (d) Pituitary gland
) fradt feaRdls Uer g9et 9
-(a)ﬁlaTn._ (b).ﬁﬁi‘c'_n
(c) urSe et @ forar Jast et
75. Amphiarthrosis is
(a) Freely movable joint (b) Slightly movabie joint
§c) vamgvabl% joint : (d) Synovial joint .
() B3 IHAHIS 7 ' (b) & far aEHS A
(¢) foiits s (4 fsdteraz '
76. The hormone that control the growth of body is called
(a) Thyrotrophic hormone _ (b) Somatotrophic hormone
(¢) Gonadotrophic hormone (d) None of these
mmﬁm%mamm% Fo8er
(a) wfedcfex TaHs (b) mzn’a? Eraﬂa
(c) TosTfex TIHS @ feast &9 ot &t
77. The muscle involved in the flexion of hip known as
(a) Hamstring (b) Quadriceps
(¢) Gastrocnemious - (d) Trapezius
2 foemi &g wis At Arat Aidt
@ dgdEs | (b) DASIRUR
() InfaHm (d) 2UdmR
78. The main abundant single constituent of muscle is
(a) Water (b) Protein
(¢) _ Inorganic salts (d) Carbo hydrates
HTRUHT & fead3r ag3 e HiSTr T B Auied
(@ w ® s
(©) WAEal BH (@) FTEITERE
78. The percentage of myosin found in the muscle is 50-55, percentage of actin is
(a) 30%-35% - (b) 20%-25%
(©) 10%-15% d) 15%-20%
wnﬁﬁrﬁau@ﬂ@wfé@ﬁme?qélﬂs%so-ss niafes € yHtusz I
(@ 30%-35% (b)  20%-25%
(© 10%-15% (@) 15%-20%
80. How many times, more energy is released during oxidation process, than released during
anaerobic glycolysis ?
(@) 15 times () 18 times
(c) 21 times d) 12 times -
rigHlads Yfafanr S5, nisafax d9a &3t ot Qe 5 A g
famrer @or &5t A Q _
(ay 1532 (b) 183
() 21ge , @ 1R
C _ 13 ' Paper-n (Physical Education)
N .- .i o



81. The term “reinforcement” is roughly synonymous with the term
(a) Reward (b) Award
(c) Strengthemng (d) Gain
JES ‘Y&IEG Faios” 9 Ju T for mae o 5% Araraet D
(8) VJIFAT | ) feau
(c) TmIU ’ d &3
Where in the human body are the free O,, hydrogen & nitrogen found ?
(a) Liver & pancreas (b) Blood & intestine
(¢) Lungs & trachea . (d) _ Stomach & intestine
Hat EtT 129 niarles, a3 i3 setens A339 e U A1 95
(2) Frro@ miz U e (b) Y53 ey
(¢) @333 AT FH (d) Uz 3 mieg
83. In which of the following part of the cardiovascular system is the velocity of blood is the lowmt ?
~ (a) Arteries (b) Arterioles
%8 Capillaries Vein
n@mqeﬁm%%amﬁaﬁa%ﬁﬁﬁgm?%aﬁs@m%
(a) &g &It ) w3t
(¢) T Q& sFoft : (@ aF
84. Which of the following class of drugs is used medically to relive pain and anxiety ?
(a) Barbiturates (b) Opiates
(c) Cocaine (d Hallucinogen
W%ﬁwﬁaaﬁﬁwwé}m ?Weaem%u%mgnaé}mﬂ
WEIY3TIFo Y |
(a) gvaélgézn | ®) ﬁﬁxégn
(c) dels - @ T3fatas
85. The syndesmosis are types of
(a)  Slightly movable joints (b) Freely movable jomts
¢)_ Immovable joint (d) Disjoints
fegwt Tt famqt 05
(1) 83 19 aneHts ¥ (b) P33T WHEHS T3
() s Az (d) g2 Azt Inf
86. The major function of the ligament in the body is to
(a) Prevent joint dislocation (b) Reduce friction in the joint
(c) Actaslevers . (d) Coordination
Fots o Y &9 9 | .
(a) wIt e ferays 3 gom (b) #3 9 few § woge
(c) frae & 377 & e (d) 3I=-AH faeRaE
87. Turning the foot so that the sole faces outward is movement called
- {(a) Eversion (b) Pronation
c) Inversxon (d) Supination
fer 3t HEe 13 37 wrawere o &9, foosm '
(a) u&zfm (b vTdE
() Eudr3Tsg (d) 9IS
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88.

89.

90.

91.

92.

93.

94.

Much of the motor-skill learning takes place during
(a) Puberty (b) Infancy
(¢} Childhood (d) Adolescence
Hea-failasr o fmrersg fieret fem Sos det 9
(@) TR S . (b) THUT TS
(c) IS TG (d) faRd »RRE 9%
The Achilles tendon is the tapering part ‘
(a) Gluteus maximus (b) Gastrocnemious
(¢) Quadriceps . (d) Hamstring
HAUEMT T wiEt &% ¥F gaier fIAr 9 -
() JBSA NEHHA S () IncfmmT
(c) TSAAUR & (d dgodtaso
Any relatively permanent change in behaviours resulting from experience is popularly known as
(a) Acquisition (b) Leaming ‘
(c) Conditioning (d) Response ‘
n@%éﬁﬁ#%@@ﬁamm@mﬁuﬁaﬁmwa:
(@) Iloz 3T () fe | -
(© WEEEF @ yfsfafer
Which of the following has least to do with motivation system ?
(a) Need (b) Drive
(c) Habit -~ (d) Motivate
It ffanr 55 fam o U3ATTs YEo 55 593 e 3T 2T 3
(@ FgIS | ®) I
(¢) nme3 d) YSAIS
A person’s perception of his/her own personality trait is reflected in his
(a) Self-esteem ' : (b) Self-concept
(c) Self-efficiency . . (d) Self-regard '
, fog fomicrat & GRS W@ fimiadise Sea 59 MBS 3ERe J GRT
(a) AR-W& : (b) »m=H TS &
() mR-tazfedg (@) v s e
Which of the following is not one of the big five persbnality features ?
(a) Submissiveness : (b) Agrecableness
(¢) Extraversion : (d) Neuroticism
It ffamit o foroar U 33 fendize sest S &'
(a) HHE (b)) nieEES
(¢) feus uast | (d) w=IIe
Which of the following is beyond the scope of discussion of health ?
(a) Hygiene (b) Disease
(c) Deformity (d) Death_
It fffat fo forazr s @ feg-sed T 93T W 9
(@) o fefamrs _ (b) farst
© Fg§F OB |
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95. Health is primarily a respons1b111ty of the ' ,'
(a) Community . (b) Individual A
(c) State (d) Parents "
Aoz Hed 39 '3 itledt 3 ' .
(a) mw & | (b) fonast &
(c) IwA @ H figr &
96. Which of the following are chemically known as lipids ?
(a) Fat (b} Sugar
{(c) Candies (d) Amino acids
Jo' FEfamit feg fam & “‘fefusm’ @ 39 '3 wfenr Ater 3 9
(a) Tadt (b) =g
(c) THSMmi JiEing (d) »iHtE W
97. Complete combustion of 1 gm of carbohydrates in the body yield
(a) 104 k.cal (b) 6.8k.cal
() 42k.cal @ 7.6kcal
AT 39 4 M FEEUEIRZ T Y9s §Bs e g D
(a) 10.4k.cal (b) 6.8k.cal
{(¢) 42k.cal (d) 7.6k.cal :
98. Normally human being requlre carbohydrate, proteins and fats in the proportlon of
(a) 4:2: 1 ®d 7:2:1
(© 3:1: (d 4:1:1
nmaaaa%wsafaamﬂaz qﬁw»@mﬁ%ﬂmﬁamaﬁr%
(@ 4:2:1 b)) 7:2:
(© 3:1:1 | (@ 4:1:1
99. Name the type of protein in hemoglobin is
(a) Hormone (b) Transport
(c) Contractile (d) Structural
g 99 Yyds @ famm o o O -
(a) TIHN& (b) n»rEEEY
(¢) Fgos (d) wwaE
100. An incentive essentially is a
(a) Reward (b) Drive
(c) Punishment (d) Condition
YI& MR JU &% J B
(a) YJAdg (b) HIA
() ¥s (d I&3
101. The rate/speed at which physical activity is performed is known as
(a) Work load (b) Exercise volume
(¢) Load stimulus (d) Intensity
T/aiEt iR '3 Adtea fafonr & fsgmr aizr AT 3, qo@et Y
(a) F9v 3T (b) A uEI
(c) 39 E8arae (d Fuazr
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102.

103.

104.

105.

106.

107.

108.

Frequency of stlmulus in loading is called -
(a) Viscosity - (b) Density
(¢) Connectivity (d) Specificity
Faret &g Qamae & Fuew FoeR I |
 (a) PME b) w=I
(c) Rua GRS
The distance covered in Marathon Race is
(a) 40.250 km - (b) 42.000 km
() 42.195km ' (d) 43.200km
MaramonRacefé’?Ed’rErﬁUﬂ'ﬁ ?
(a) 40.250km (b) 42.000 km
(¢) 42.195km (d) 43.200 km
The spam of transitional period of sports training should be more than
(@) 1to3 weeks (b) 2to 4 weeks
(¢) 4to6 weeks @ 6to 8 weeks
Bsﬁwﬁ%maﬁmﬁm@f&na‘éumﬁmﬂﬁa
(@ 13333 : b)) 2343783
(c) 4?3*633% @ 638w
Which of the following is not used as yard stick for the selection of a research problem ?
(a) Feasibility (b) Novelty
~ (c) Availability (d) Reasonability
g0 At & 32 &2t d T 39 '3 38 fefaut 7 farer yBiar &3t e
() Fs=sT (b) a3 .
(0 GuBau @) ST
Individual differences among people exist in
(a) Body and mind (b) Skill and ability
© Thought and action (d) Al personality variables
(a) FItg mz formar &9 (b sz m3 ter &8
(¢) ARum3aHfes ' (d) rro fenafzse oot &8
In which sport do individual differences make least impact on learning skills of that sport ?
(a) Archery (b) Soccer
(¢) Hockey (d) Basketball
fanﬁsﬁaﬁmaﬂasmaa@nﬂs%mﬁus@%ﬁs&mumu@%m ?
() Framienit ®) Had
() Tt (d) THI TS
‘Which of the. following reflects the idea that we like people who like us ?
(a) Similarity (b) Reciprocity of feelings
(c) Proxumty Social exchange theory
- It et 8 ﬁaarfeafeawqﬁhaaaa? 3 fa miFft 8aa' Bor T9d I fo@R A
TR TS 1 -
() FAHES - ®) seE=t G
() feazzr _ (d) AW Teiee s
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109.

110.

111.

112.

113.

1 14.

et At
(a) BWBiaHBE IR I T Fua B I A i

What kind of groups are generally more cohesive ? R

(a) Large groups (b) Scattered groups :

% Racial groups (d) __Smaller groups ' :
A Y9 € AHT nH 39 '3 framma fanis 32 0 -

(8) <3 Ay - () fismpe

(c) 3= d) =2 mE _

Personal preferences and tastes developed in childhood are often evaluated in -

(a) Later childhood (b) Adulthood

(c) Older adolescence (d) Old age N

gous 9 featfinz déht fenadtas savita’ w3 et & Heige wiaAe e

(a) HOUS HIS o) FEIs.fEo

() riE3UEdtggrmsfedm d) T &g

What has attracted the economists towards sports these days ?

(a) The media (b) Growth of sports industry

(c) High stakes on athletes (d) Cut-throat competition

iR WMEERTHIIM & 83 ¥ famd wieErs s 3

(a) F9T ATS & (b) u3 Gutia? feaA 3

(c) ST 'IQIEMB (d) TS YD B

The ICC and the National Cricket Boards are almost solely interested in

(a) taking the game beyond the geographical boundaries of common wealth countries. .

(b) playing politics of economics. ‘

() TV coverage and the money cricket brings in.

(d) Ke)%pin  interests of the players foremost in mind.
mg IR faae 9% ot 3adtys gt 3 fage

(b) nTEAAZT & THAS O3T fou

(c) fooe gnrar fomite Aie Uus w3 At a=dn fife

@) fumrdit 2 fuzt § fowra ff9 1y Sz R

Which of the following event is not stated in HEPTATHLON (for women) ?

(a) 100 m hurdle (b) High jump

(¢) Javelin throw (d) 100 m sprint

I5" fefanit f&° foraar €12 HEPTATHLON (%93t =2 9 Werge 53t
(a 100m garee (b) @'g'l‘ a&tar

(c) ¥ Hem d) 100+ &t @3

Everywhere and anytime the media is dictating

(a) what events to watch : (b) how we watch them

(¢) how we remember them (d) usto perform all these three
T 7 w3 I AR Hishr 85 faor 9 |

(a) faos SRz 75 ) B § mirt fad duzr d

() Bt EmiFfaRoedEd (d)  foost fist o fsgm aas

118. According to rile, the temperature of water in the swimming pool should be arpund
{a) 26°C (b)  27°C
(c) 20°C (d 29°C
ITew 2 nighg 396 T8 I f¥9 U o IuHs T ordter I saEqr
(@) 26°C , (b) 27°C
(c) 20°C d 29°C
Paper-1I (Physical Education) . 18
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‘116.

117.

118.

119.

120.

121.

122,

What is the number of hurdle jump in steeple chase ?"

(@) 24 | (b) 26

(c) 28 30

niffer €3 99 aaﬁ'z”r B ﬁ fasst 1‘6&& G

(a) 24 ®) 26

(c) 28 A @ 30

Practice of and perfection in a motor or athletic skill is basically a function of
(a) trial and error process - (b) insight process

(c) observation process (d) conditioning process

HeT 7 miasfed dns o mifenA w2 B8R fee fRissT HeB 39 ‘I e85 9
() wnfER i 33 yfafr & (b)  wise fomdt yfafanr &

(© vz yfafonr e (d) negE yfafanr o
The area of performance for floor exercise in gymnastic should be
(a 10mx10m (b) 12mx12m

(¢) 13mx13m (dd 16mx16m '
fivemAfea f¥g st IAT3 © YooRs ol 839es d7 gt 9
(@ 10mx10m 7 (b) 12mx12m

(¢) 13mx13m ' (d) 16mx16m
Which of the following elements is contained only in protein ?

(@) Carbon () Hydrogen

(¢) Nitrogen (d) Oxygen

It f#%mf &3 foazr 33 e Udts e miis Je7 9 ¢

(a) TGS | (b) TEES

©) BETs @) WIHES

The key component of health-related fitness is

(a) flexibility (b) muscular strength
(¢) cardio-vascular endurance (d) body composition
fhoz RS niggusT 2 1d wial J _
(a) A ) Ufodt & HAgst

(© fooe a3t S ATIS Aot (d) FIT TIE

Most personality test used in physical education are
(a) Mechanical test (b) Physical performance test
(c) Manipulative test (d) - Inventories
Hetge fHftmr &g 293 Aie frersg fsies udd 06
() wWIfoX uSy (b) RIS YTIHS U
(c) YIBUISG U (d) ABUETT
Strength is the basis of all movements which involve
(a) bones (b) nerves
{c) joints (d) muscles .
W% QIS Ardhntt adinit o wio {3 3 e oo s 76
() It - (b)) I
(c) 73 @ U _
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123.

124.

125.

126.

-128.

129,

Which of the following conditions are life-threatening ?

(a) Heatradiation (b) Heat exhaustion
(c) Heat stroke , (d) Heatloss
Jot fifamit G foas Tom3 Fies-wr3x 5: o
(a) 3 feads (b) 3y HiEgr

(¢) 3T audt : (d Iuwd
Men in motion is the focus of attention only in
(a) Kinesiology (b) Bio-mechanics
(c) Physical education (d) Vigorous recreation
ISt g vt foors o 09 O frge
(a) St fefamrs AR39 & (b) e-Hafsan &g
() WA fifumr 3w d) yas Heusae fdg
Hepatitis is an infection of the
(a) stomach (b) liver

{c) duodenum (d) kidney

&7 Aagrz 9 :

(@ Uz () femer
(c) &t wizFte @d TR
Good muscle tone is highly related to good '
(a) Reflex time ' (b) Movement time
(¢) Transmission time ’ (d) Reaction time
HAUHM St Jaft o3 2g3 fewrer Aduz 3 3a
(a) yfsfafonr as &% b) THTE IS
(c) RUTS B S @ yYfseH s &%
Name the game which involves little ‘large muscle activity’.
(a) Shooting (b) Taekwondo
(© Chess ~(d) Archery
U3 v 3H-F R & ‘wifte vl fafanr’ ufe avs O
(a) fomdawit (b)) TEEES

(¢} EI9HA . (@) Stoviewit
Virtually, physical education is an active form of
(a) Exercise ' (b) Aerobics
(c) Sport , (d) Recreation
Rdtex fifenr fea qu @
(a) TAII T () WIfsam e
(c) @ | (@) HAIAE e
The Indian Olympic Association was for:hed in
(@) 1927 . (b) 1952
(c) 1937 - (d) 1947
ot Qdfua Aw T faarE oftgr famr At -
@ 19271 by 1952139
() 1937f&%w (@) 1947 %
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130.

131.

132,

133.

134.

135.

. 136.

The human heart is about the size of a/an

(a8) Average size apple ~ (b). Hen’segg
(c) Man’s closed fist (d) Bigalmond
Haut fo sagar fere niag & ger 9 .
() ffIWiAs g e AE (b) HIG T witzT
(c) oMt & de Het @ fea T TN
The quality of life is directly related to
(a) The state of one’s health (b) One’s nutritional status
(¢) Individual’s mind set (d) Fulfillment of needs
Hes  ITITYSY QU SH AET T ¢ S
(a) feaﬁmaé’ré’rfnaaéfmﬁs"rM(b) g feniadt © UnfeasT @ Ton 5%
(¢) forat & fegsue &% (d) &I S AR 5B
-Name the component of physical fitness that is, more or less, genetically determined.
(a) Flexibility (b) Speed
(c) Strength (d) Body composition
A9 »EgusT & vidl & &7 TR faoar fa nigshe qu &'& fe Jer d
(a) T (b) St
(c) & (d) mEEsd
There is no muscle contraction during
(a) Isotonic workouts (b) Ballistic exercises
(c) _Isometric exercises (d) Isokinetic bursts
for S35 HRUHM T Agus &dt ger 3¢ :
(a) wWEtRSTSR oAt (b) FfoAfea ATt %
(c) wEtRefea arast (d) wrEtREEdfed 2@
Which of the following don’t constitute aerobics ?
(a) Rhythmic exercises (b) Cycling
(¢) Calisthenics (d) Yogic practices
Jot ffant o9 fam oo wfaan wfks ot 3t
- (a) IBYIS JIATI (b) FERESa

(c) Tl TR (d) G A
Philosophy of physical education is said to be
(a) Elective (b) Eclectic
(c)  Selective (d) Imperative
Frotaat fifmr <t et J :
(a) s (b) foaeros
(c) =I5 (@) wif3-nreRa
The effect of sports and training varies with the
(a) Weather and season : - (b) Stage of maturation

. (¢} Peoples and places ' (d) Child’s educablhty
st w3 fiuset @ ygre ufgeefzs e 9
(a) TEIG M3 HAH &6 (b) uﬁmarsT T Yo &8
(© I 3 ATS 5H (@ T <t fafpr vz &%
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137. A person’s posture is most influenced by his
(a) Movement habits (b) Home environment
(c) Lifestyle N (d) Nutritional status
fex feniat <t witea wee g 3 forer Y 3@ 9 @R
(a) Tz aoE S ezt 3 (b) WG HI® I
() Tsists ‘d) UmE dme T
138. What holds key position for weight control ? '
(a) Recreational sport (b) Physical activity
(¢} Dieting (d) Eating habits
9 fotizas 9 1y wowr fand yug 3
(a) HEUTOH B3 (b) RIS fafanr
(c) YIA AAM (d YEnrest
139. How many times do our kidneys filter blood in the body each hour ?
(a) Once _ (b) Twice
(¢) Thrice (d) Four times
A3 gIoe FAtT 39 4a 3 99 ui fodt @ yze 75 7
(@ f==v b) d=9
(¢ Bseg (d dIIITT
140. Rabbis is an active highly fatal infection of the .
(a) cerebrum (b) autonomic nervous system
(c) spinal cord (d) central nervous system
Jdta ¥ 993 w3 Adanz § o
(@ foyarer (b) FR U3 FAYHY e
(©p Fsdtad:to - (d) aESTsAydTer
141. Physical exercise done in the presence of oxygen is called
(a) Aerobic (b) Anaerobic
(c) Isometric (d) Isokinetic
eV @ e fég it ae =t Adtex angs aoget 3
(a). Tt aEs (b) niEnSfa
(c) rrEmtefex . (d) nretEafEdfea
142. There is a possibility for a AIDS’s patient to live for a few
(a8 hours (b) days
(c) months (d) years
3 239 valv &<t itz Eﬂ' Ag=s gut & g3
(a) uie ®) Ff
(c w3 @ 7
143. The length of trachea (\mndplpe) in an adult person is about
(@ 20cm (®) 15cm
(c) 10cm (d Scm
fEx aoar fearrs R Ao st < St §&t I wa=ar
(3 20cm (b) 15cm
{¢) 10cm (d 5cm _
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: 1440

145.

146.

147.

- 148.

150.

The number of muscle-pairs, found in the hﬁman body is
(a) 200 . (b) 250
(c) 300 (d) 350
HEHt A9 ¥ ure |l wﬂﬁfﬂw 2 #fgnr & fasHt 3
(a) 200 (b) 250
(¢) 300 . (d) 350
Which of the followmg are involved in injuries called “sprains” ?
(a) Bones (b) Tendons
(c) Ligaments (d)  Blood vessels
‘e’ F08E el He 99 Jot fefont feg ot ik der 9
(a) TShnit ®b) U
(0 w33 : d) us it FEt
In India, the school health services started in
(a) 1949 (®) 1909
(c) 1962 d) 1968
3793 &9 Ags o3 Aeet & ggns oSt ot At
(@) 1949 &% b 190918
(c) 196218 (d) 1968 3T
The contractile elements of the muscles fibers are called
(a) Spindles + (b) Myofibrils
(c) Myofilaments (d) Contractile proteins
AR & Ifmit @ Agfes nin go8e o5
(a) Aflzs | () wHiegfeafes
(c) HfeBfemiz (d) TR §As
Which of the following kind of training is considered excellent for bringing about body
conditioning ?
(a) Interval training (b) Clrcult training '
(c) Weight training (d) altitude training
Hﬁwmﬁmﬂ@swwﬁmﬁ% 3gt & fraeret AgesH KAt AL 3 7
(a) wRmitsa et | b) <o fusgt .
(c) 33 et (@) Gut ‘3 frumet
Dislocations occur most commonly in such Sport as
Ea} g:lllmg 8% gwmg "
c ery ymnastics

- I v feranus nifidntt B3t RS AES Wil 3
(a) AEE(Sa (o) e
(c) TromiTwt ‘ (d femfea
Complex carbohydrates are not found in ‘
(a) Fruits (b) Rice
(c) Pasta (d) Breads

| Foei3e fon o & s -
(a) T _ b =B

(c) URI @ 33
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